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Q-1. Find the HCF of the following numbers by prime factorisation- 

(a)   12 , 16 

   2    12   2   16 

   2     6   2    8 

   3     3         2    4 

   1   2    2 

          1  

Factors of 12 = 2x2x3 

Factors of 16 = 2x2x2x2 

Common factors are = 2x2 

So , HCF of 12 and 16 = 2x2=4 

 

(b)   54 , 72 

     2   54    2   72 

     3   27   2    36 

     3  9   2    18 

    3     3   3      9 

           1    3      3 

            1 

 

Factors of 54 = 2x3x3x3 

Factors of 72 = 2x2x2x3x3 

Common factors are = 2x3x3 

So , HCF of 54 and 72 = 2x3x3 = 18 

 

(c)  30 , 96 

 

 



2    30    2    96 

3    15    2    48 

5      5    2    24 

     1    2    12 

    2     6 

    3    3 

         1 

Factors of 30 = 2x3x5 

Factors of 96 = 2x2x2x2x2x3 

Common factors are = 2x3 

So , HCF of 30 and 96 = 2x3 = 6 

Q-2. Find the HCF of the following groups of numbers using the method of 

division by common factors. 

(a)   12 , 18 , 24 

2       12 , 18 , 24 

3        6  ,  9  , 12 

          2  ,  3  , 4 

HCF of 12 , 18 and 24 = 2x3 =6 

(b)  28 , 35 , 49 

 

7 28 ,   35,  49 

4 ,     5,     7            HCF of 28,35,and 49 = 7 

(c)        32, 64 , 96 , 128 

2 32 , 64 , 96 , 128 

2 16 , 32 , 48 , 64 

2 8 ,  16 ,  24  , 32 

2 4  ,  8  ,  12 ,  16 



2 2 ,  4 ,  6 ,   8 

 1  , 2 ,  3  , 4 

 

HCF of 32 , 64 , 96 , 128 = 2x2x2x2x2= 32 

(c)  70 , 105 , 175 

5 70 , 105 , 175 

                    7      14 ,  21 ,   35 

         2 ,     3 ,    5 

HCF of 70 , 105 and 175 = 5x7 = 35 

Q-3. Find the HCF of the following groups of numbers using the long division 

method – 

(a)   144 , 198 

 

144  198 1 

         -144 

   54 144 2 

          -108 

            36 54 1 

           -36 

   18 36 2 

            -36 

    00 

HCF of 144 and 198 = 18 

(c)       144 , 180 , 384   

144 180 1    

         -144 

   36 144 4 

            -144 

  000 

36 384 1 

         -36 

   24 36 1 

          -24 

  12 24 2 

   -24 



   0 

HCF of 144 ,180 and 384 = 12 

(d)  45 , 60 330 

45 60 1 

         -45 

 15 45 3 

          -45 

  00 

15 330 22  HCF of 45 , 60 and 330 = 15 

      -   30 

   30 

         -  30 

    00 

 

 

 

     

 

 

 

 

 

 

 


